#REER 15 (56 2 ZRBE1R)

il =l gl it i T % %
TetElEir (2 1) #f &2 & il
£ £ £ £ 1 oy £ =
T e O 2 wprx 2THEROEHELAOREESELZE F13LXK &G E
i T P T R A HiPN 4k
A 2 B
Bt bRE T JFEC (EE - BHAERR) A= 19, 000. 0 ni (9, 5001t X 4E:2[A])
iR L (A) L= 2.0 km (4£1]A])
ANBRE T A= 40. 0 mi
BT A= 40.0 m
X[ E LSS = 10.4 t
vy V= 10. 0 m3
= 3 AL W= 250. 0 kg
e 0% W= 0. 02t
# H it T £ [ 28 B % [A] 25 W 1 A
it %A M
= ﬁa“%.’)%’ﬁx EGE-V |
T =+ il s M
HERBRE T THMEE
{% % OB M Y4 M
nﬁ //%\ {3% ﬁ %:E
2 WO OFE Al M B OE U E LR OBEA e
R TR = A T MR x Ak | }
E TR OFFAICA T 5%

£ BT f 54 R %W T W i

TR




»
%
-
&
XE
I

AT O A0 2 R
T #® & & #02—-40-000—-K—01 3%
T F 4 2 THEKEEF L OBREEGETEL 3 T &etE
L = 5 f
SUTEATH AT
e T 7 ¥ JREKIHEH A H A H
T 1
& 17 8 [ SRR s H H 25 ERk s H H F£T H ]
% on &
b H i T R REIPAY O (A)
- EEFHRUH T 5 T Al
[CIN. =5 RN A X e
i T (R [E1 25 3F) e oD o 2 T
U SR RPSY | S LR FIIEEN FOFEAIER
e 0T (A [E1 2% B2 ) F O FR G AR
T ) T (ATl 2 50) TF OO F LA
il ¥ UNECE 7THRTEI 0 5T 6 (1)
Wl Rt 2 SR T -
VT 2R T M 5}
B AR -
FEA (FRD) 75 T Al — M
w T HE
T * iR =
W w M1 |BREL(EAC 1| RS2 |(BE2|HAL2| M S |EE3|HNAL3
75

Fff




Mer. B YA =
TEHEBLFE (N R) R
% 02—40—-000—-K—013 %& Fh BT REE
THEXs I MR | s | BAL 4 FH OB R
T8 R MEFT
1] X
R T
Y
18 PR T FRE 19, 000. 000  m2
‘ PUE VA 10.400 t
S = 3 B 950.000 Kg
78 X h%
[En 40.000 m2
T8 I L
Y
B g L B (B a0 - A7) 2.000 km
\ RSy 10.000  m3
S B LSy
FEFRAHERS T
Y
IR EAEEHT FEAE B E 40.000 m2
ES U 0.020 t
1] K
B LEgrat
1] K
Hamk e (KE )
Y
SRR At
Y
MTEE
1| =X
R
Y
TR
Y
— BT
Y
TS
1] X
B %8
1] K
HA L
Y

Fff




KT H H N R E
% 02—40—000—-K—013 & Eh T REE
THEXs T fER] B B W & HALL B Al & FH i B
TH HEHERE
PR T
THRBREL T
BREL
19, 000. 000  m2
Jii T. P
FEmR R (8 #h20) - 2R 5 B A SE 25000175 RUffi 3%
ROAHEOEEE D), EiksE (3 19, 000. 000 m2
V7' NGyh (Rvm=b o7 = e 2tEE) ), V7 )
7y TEREREE (6. 5kmPL ), B HOWNGER (& T
OEM)
X B4 S5
10.400| t
R B ALy
10.400| t
= 3 AL
250.000] Kg
= 3 JLER
72 X % 250. 000 kg
SREL
40.000| m2
5 1. P
PREL #0002 4 Al 52
(ESA 0NN 40.000| m2
ERIER T
i TREE T
B s (BEH- A )
2.000|  km
i 1. P
B s (BEE - A7) 55000375 (UM 3%
EEBR B (D 72\0) 2.000|  km
0y
10.000| m3

Fff




AL HEH HNRE
% 02—-—40—-000—-K—-013 & EfE fE T HEE
THEXS LfE R M Bk & AL HAfh & i 2L
s U
B sy 10. 000 m 3
TR T
BIAR - EAEHT
FAHE S E
40.000|  m2
RS R (A A E) #0004 75 (Al %
i TNZE (AR , Jits THA% (1000m2LA |) | 40.000| m2
FRITHIAOAH IE (1), 72 VR 24 E (1), M T35
FTRIAIE (B R B (il Je OV s
) )
kML Sy
0.020| t
EI UG
0.020| t
[ERZE

Samft (Rat L)

eSS G S i

T
Xz
T

AT

B B

THE B L4

Fff



KL HENW

g]ljll
I

% 02-40-000—-K—-013 % Jif kT FREE
THXy TH RN A B S R & fii =
AL

4 Fff



0001 =

(N(IES

Pt bR . R ) - B - A A

i TP (%1, 42%, 5798, 17%, 40. 41%, 0. 00%)

$02—40—000—K—013% 1. 000 m2 40
2T FEREE | B R HA b X HA A e
T NTwr [FArua—FK-F1—ENL]
2 LB 10200 % K1
BN DB
T AEE25 5mm 0. 390 % K2
WEIEEE
50.000] % R1
R EEE
34.430] % R2
H-Z51%
7.980| % R3
EIRF (%)
2.990 % R4
L
to2w 0.410] % 71
(1 ¥ B )
TR B
ES G AJIE NVAE ¥
Jo1 O 7 D A7 4 1 HY
Joz TER AR R E 1 7 havr (Fve=h 7 4= e 2t
)
Jos3 VAV VR %! :EL 1 6. 5kmPL T
JO5 #FH OWNER 1 2TOEH
5 AR T




%0002 & R PREL
i TP (B0. 00%, 57100. 00%, £40. 00%, T70. 00%)

#02—40—000—K—013% 1. 000 m2 %0
2 F REREEE | HAL R H X A e
HEIEER
81. 040 % R1
HER
17.970 % R2
(B E HAlL )
AR HLM
E L AME A4 FR
Jo1 VESETERE 3 ANTIBREL

6 Fff




%0003 & AR W T i (B JE 6 - AN D)
i TP (B0. 00%, 57100. 00%, £40. 00%, T70. 00%)

#02—40—000—K—013% 1. 000 km 40
2 F REREEE | HAL R it XA e
HEIEER
99.010| % Rl
(e 78 By )
FE B AT
e AME A4 FrR
Jo1 BEE 1 BIRUN

7 Fff




#0004 5 Ul A P (AR A RE)

J04  WHEWEEMIE
JOS5 it 355 T B4R I

F02—40—000—K—013% 100. 000 m2 %0
AN e BALT B e 2} i
B T HEREE THEEAE
A 9) 100.000| m 2
&t
HALY Y
Gt 26 AJIiE WNVAEZY i)
Jo1 i TNE 1 JERA
Jjoz2 i T 3 1000m2L4 +
JoO3 REF IO Al E 1 il
1 fiiis
1

B R (B0E R 02l )

8 ARG T



